Ersatzteilliste Lista parti di ricambio
Spare parts list Onderdelenlijst
Liste des pieces de rechange Lista de repuestos

6720872590
(2017/08) Ri

S120.5 S-A

8738894203.aa.RO

Buderus

31.08.2017 1 6720872590




2 6720872590
31.08.2017



[de] Wichtige Hinwelse zur Installation/Montage

Die Installation/Montage muss durch eine fiir die Arbeiten zuge-
lassene Fachkraft unter Beachtung der geltenden Vorschriften
erfolgen.

[en] Important notes on installation/assembly

The installation/assembly must be carried out by a professional
who is authorised to do the work, and with due regard to the
relevant regulations.

1] Instructions importantes pour linstallation/le montage
[fr] Instructi i rtant Pinstallation/l ta

L'installation/le montage doit étre effectué(e) par un spécialiste
qualifié pour les opérations concernées et dans le respect des
prescriptions applicables.

[bg] BaxkHu ykazaHuA BbB Bpb3ka C UHCTanaLmMATa/MOHTaXa
WHcTanaumATa/mMoHTaxkbT TPAGBA Aa ce N3BbpLUBa OT /IMLEH3MPAH
3a paboTuTe cneuvanncT B CbOTBETCTBME C NPUIOKUMUTE
pasnopenbu.

[cs] Diilezité pokyny k instalaci/montazi

Instalaci/montaz musi pfi dodrzenf platnych pfedpist provést
odborny pracovni(k s p¥sludnhym opréavnénim pro tyto préce.

[da] Vigtige anvisninger til installationen/monteringen
Installationen/monteringen skal foretages af en godkendt installa-
tor under overholdelse af de geeldende forskrifter.

[el] Znuavtikég uodei€eic yia Ty sykatdotaon/cuvappdoAéynon
H eykatactaon/cuvappoAdynon mpémnel va mpaypatomoleital and
e€oualoSotnpévo yia TiG pyaclec auTEC TEXVIKO TIPOCWITIKG, TO
onoio Ba npénel va gppovTi(el GOoTe va TNPoUVTAl Ot LOXUOUTEG
Sarageis.

[es] Indicaciones importantes para instalacién/montaje
La instalacion/el montaje lo debe realizar personal especializado
autorizado para los trabajos, respetando las prescripciones vigen-
tes.

[et] Olulised juhised paigaldamiseks/montaaZiks
Paigaldamist/montaaZi tohib labi viia selleks volitusi omav
spetsialist, arvestades kehtivaid ndudeid.

[fl] Belangrijke aanwijzingen betreffende de installatie/montage

De installatie/montage moet worden uitgevoerd door een voor de
werkzaamheden geautoriseerde installateur. Hij moet rekening
houden met de geldende voorschriften.

[fi] Tarkeitd asennus- ja kokoonpano-ohjeita

Naihin téihin hyvaksytyn ammattiasentajan pitéa suorittaa asen-
nus- ja kokoonpanoty&t voimassa olevien maardysten mukaisesti.
[hu] Fontos tudnivalék az installdlashoz/szereléshez

Az installalast/szerelést egy, a munkékra felhatalmazott
szakembernek kell végeznie, az érvényes el6frasok
figyelembevételével.

[it] Avvertenze importanti per I'installazione/il montaggio
L'installazione/il montaggio deve aver luogo ad opera di una ditta
specializzata ed autorizzata in osservanza delle disposizioni

vigenti.

[he] 8608369¢vmgsbo Bomomgdgdo oBlGssgoolimgal/dmbasgolsmgols
0Bb@m5305/8mbFsg0 MBos 3sbbmMEogmagl bsdmdsmgdobmgol sdzgdmao
335eogo3om®o 39GLmbsarol dogé, dmgdgwo asbsfiglol wssgom.

[it] Svarbios instaliavimo ir (arba) montavimo nuorodos

Instaliuoti ir montuoti, laikantis galiojan¢iy taisykliy, leidziama
kvalifikuotiems specialistams, kurie buvo jgalioti $iems darbams
atlikti.

31.08.2017

[Iv] Svarigi noradijumi par iekartas uzstadiSanu / montazu
lekartas uzstadisanu/montazu ir javeic specializétam sertificétam
specialistam, ievérojot spéka esosos noteikumus.

[nl] Belangrijke aanwijzingen betreffende de installatie/montage

Deinstallatie/montage moet worden uitgevoerd door een voorde
werkzaamheden geautoriseerde installateur rekening houdend
met de geldende voorschriften.

[no] Viktig informasjon om installasjon/montering
Installasjonen/monteringen skal gjiennomfares av autoriserte
installaterer, og gjeldende forskrifter skal fglges.

[pl] Wazne wskazéwki dotyczace instalacji/montazu
Instalacja/montaz musza by¢ wykonane przez uprawnionego

do tego rodzaju prac specjaliste przy zachowaniu obowigzujacych
przepisow.

[pt] Indicagoes importantes relativas a instalagao/montagem

A instalagdo/montagem deve ser efetuada por um técnico espe-
cializado com qualificagbes para estes trabalhos, tendo em aten-
¢éo os regulamentos em vigor.

[ro] Indicatii importante privind instalarea/montajul

Instalarea/montajul trebuie realizate de cdtre un specialist autorizat
pentru lucrarile respective, respectandu-se prescriptiile valabile.

[ru] Baxuble yKazaHua no NoAKMIOUEHUIO/MOHTaXY

MoaknioveHne/MOHTaX AOMKHbI BBIMOSHATL CMELManucTbl,
MMerLme AONYCK K BLINOTHEHUIO TaKuX paboT, npu cobniogeHnm
AENCTBYIOLUX HOPM U NMpasBu.

[sk] Délezité pokyny tykajuce sa instalacie/montaze
Instaldciu/montaz musi realizovat odbornik s opravnenim na
vykon tychto préc, pricom musi dodrZovat platné predpisy.
[sl] Pomembni napotki za namestitev/montazo
Namestitev/montaZo mora izvesti strokovnjak, pristojen za
tovrstna dela, ob uposte vanju veljavnih predpisov.

[sr] VaZna uputstva za ugradnju i montazu

Ugradnju i montaZzu moraju da obave samo struéna lica ovlas¢ena
za izvodenje takvih radova koja ¢e postovati vazece propise.

[sv] Viktiga anvisningar for installation/montering
Installationen/monteringen maste utforas av en behérig och fack-
kunnig person enligt géllande féreskrifter.

[tr] Kurulum/Monta] ile iigili 6nemli uyarilar

Kurulum/Montaj calismalari sadece yetkili bayiler tarafindan
asagida belirtilen talimatlar dikkate alinarak yapiimalidir.

[uk] Baxnusi BKasiBKM WOAO YCTAHOBKWMOHTaXY

YcTaHoBKy/MOHTaX MaloTb 3flilicHIoBaTU paxiBLyi, Lo MaloTb AO3BIN
Ha npoBefeHHsA uux pobiT, i3 AOTPUMaHHA YNHHMX NPUNNCIB.

[zh] ZEFEHERRET
AR EH 3 B VP AT AR IR AR Mk A R BEFRAR SCI BEAT 22

Sbailifqus sl L cidiadia [ar]
A ball 2 51 Bled ja pe (Jaally Al 7 jeaa (pavadie 8 ce graailfcuS il o5 of cang
M gazunai 0 50 pga il 53 [fa]
JalS da sl Oigar 5 sl IS Co planil 4y Slane 4S (o) 4B ya 638 Jann 5T 3 U pefuaa
5 alatt dda gy e 5 a4y

3 6720872590



Ersatzteilliste Liste des piéces de rechange Onderdelenlijst
Spare parts list Lista parti di ricambio Lista de repuestos

13

8738894204.aa.RO

Speicher $120.5 S-A S120.5 S-A
Cylinder S120.5 S-A

Ballon S120.5 S-A
Bollitore S120.5 S-A
Boiler S120.5 S-A
Acumulador S120.5 S-A

31.08.2017 4 6720872590




Pos |Bezeichnung Bestell-Nr. Bemerkungen
Description Ordering no. Remarks
Dénomination Numéro de commande | < Remarques
Descrizioni N° d'ordine @ Osservazioni
Benaming Bestelnummer g‘ Opmerkin.gen
Descripcion Numero el ordenar bred Observaciones
1 |Verkldeckel D600 schwarz 8735100690 | m
2 |Kappe schwarz (1x) 8735100552 | m
3 |Stopfen G1 1/2" mit PTFE-Ring PB2 8 735100 199 n
5 |Schraube ISO4017 M10x30 A3K (10x) 7 747 022 050 u
6 |Tauchrohr 31,5mm Hostalen 7747020191 | m
7 |Tauchrohr 820mm Hostalen 7747020190 | m
9 |KFE-Hahn 1/2 M Gewindedichtr PB2 8735100227 | m
10 |Anode G1" D26x505mm 87185713470 m
11 |Spannfeder (1x) 87182240810 m
12 |Blech 0,8X150x10 mm 7 747 030 376 u
13 |Abdeckung KFE Hahn D600/670 8735100689 | m
14 |lIsolierung Vlies D75x50 (2x) 8735100688 | m
15 |Rosette D40x2 (1x) 8735100687 | m

Logo Buderus 87185415730 W

S120.5 S-A Speicher S120.5 S-A

Cylinder S120.5 S-A
Ballon S120.5 S-A
Bollitore S120.5 S-A
Boiler S120.5 S-A

Acumulador S120.5 S-A

31.08.2017

6720872590




Ubersetzungsliste
List of translations

Liste des traductions
Traduzione delle descrizioni

Vertalinglijst
Lista de traducciones

Pos | Description Denomination Descrizione Benaming Descripcién
1 |Element of construction Groupe de construction Gruppo di construzione Montagegroep Grupo de construccion
1 |Cover Top Outer Case D600 Black Packed | Couvercle D600 noir Copertura di protezione D600 nero| Afdekking D600 zwart Recubrimiento D600 negro
2 |Cap black (1x) packed Capuchon noir (1x) Tappo nero (1x) Kap zwart (1x) Tapa negro (1x)
3 |Plug G 1 1/2" with PTFE-Ring PB2 SP |Bouchon G1 1/2" PB2 Tappo G 1 1/2" con anello di PTFE PB2 |Pluggen G 1 1/2" met PTFE-ring PB2 |Tapén G 1 1/2" con anillo de PTFE PB2
5 |Screw ISO4017 M10x30 A3K (10X) [VIS ISO 4017 M10x30 A3K (10x) |Vite Iso 4017 M10x30 A3K (10x) |Schroef Iso 4017 M10x30 A3K (10x) | Tomillo Iso 4017 M10x30 A3K (10x)
6 |Immersion pipe 31.5mm long hostalen | Doigt de gant 31,5mm Tubo ad immersione 31,5mm Hostalen | Dompelbuis 31,5mm Hostalen | Tubo de inmersién 31,5mm
7 |Immersion pipe 820mm long hostalen |Tube d'immersion 820mm Tubo immersione 820mm Hostalen | Dompelbuis 820mm Tubo de inmersién 820mm long.
9 |Valve Tap 1/2 W Thread Seal Ring PB2 SP | Robinet de vidange 1/2" PB2  |Rubinetto di scarico 1/2" PB2 |Ledigingskraan 1/2" PB2 Llave de llenado / vaciado 1/2 PB2

=
o

Anode G1" D26x505mm

Anode d26x505mm, g1"

Anodo D26x505mm, G1"

Anode

Anodo D26x505mm, G1"

[N
[N

Clamping spring (1x)

Tole torsadé de maintien (1x)

Molla di tensione (1x)

Spanveer (1x)

Muelle tensor (1x)

[y
N

Blank 0,8x150x10 mm

Tole 0,8X150x10 mm

Lamiera 0,8X150x10 mm

Plaat 0,8X150x10 mm

Chapa 0,8X150x10 mm

ey
w

Cover Drain D600/D670 Packed

Isolation Robinet de vidange D600/670

Isolamento Rubinetto di scarico D600/670

Isolatie Ledigingskraan D600/670

Aislam Llave de llenado D600/670

[y
>

Insulation Fleece D75x30 (2x) packed

Isolation toison D75x30 (2x)

Coibentazione vello D75x30 (2x)

Isolatie vlies D75x30 (2x)

Aislamiento vellén D75x30 (2x)

ey
[4)]

Rosette D40x2 (1x)

Rozet D40x2 (1x)

Rosetta D40x2 (1x)

Rozet D40x2 (1x)

Rosetén D40x2 (1x)

Badge Buderus

Logo Buderus

Logo Buderus

Logo Buderus

Logo Buderus

31.08.2017

6720872590




Geratetypen Types de chaudieres Toesteltypes
Types of appliances Tipo apparecchi Tipos de aplicaciones
Gerét Bestell-Nr. Land S-Nr. Bemerkungen
Appliance Ordering no. Country S-Nr. Remarks
Chaudiere Numéro de commande Pays S-Nr. Remarques
Apparecchio N° d'ordine Paese S-Nr. Osservazioni
Toestel Bestelnummer Land S-Nr. Opmerkingen
Aparato Numero el ordenar Paese S-Nr. Observaciones
S120.5 S-A 8732910 200 Belgien,Deutschland, ltalien,Luxemburg,

31.08.2017

6720872590




Bosch Thermotechnik GmbH
D576 Watser | Germay Buderus

31.08.2017 8 6720872590



